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R z. ) K| 9T e E Ik K| T E k= K| 9T E
m m A i [ m m A e | m m A e | m
1.50 ] 1.25 1 2 2.250 0.30 | 0.50 0.30 0.60 0.70 ] 0.50 1 2 3.800
4.25 1 1 0.750 0.50 I g 2.800
2.391 1.39 1 2 1.220

61

3 5 4.220 i 1 5 2.800 i 1 2 3.800




91

g apny
HPE 6 150
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5 0.45 0.38 0.61 0.53 0.49 0.5 0.22 1.07 0.93 0 AR IER:
505 8.14 2.64 0 0 1.22 0 0 0.5 0.22 2.14 1.86 0 L= 521.7
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% m | B % o % BEEIFHTHIN A T THEFHE gl % & | W o=
HPE PP PP PP PP
¢ 150 ¢ 50 ¢ 25 ¢ 20 ¢ 13
LI T As, t=15cmPL T 370.90 + 21.00 28.00 + 2.00 + 58.00 m 480 479.90
HEERREEEL T.|  As, t=10cmBL T 286.90 + 5.80 7.70  + 0.60 + 16.00 m 317 317.00
A L wE+ 328.70 + 5.90 5,70  + 040 + 11.60 nf 352 352.30
MO RLT RC—40 120.00 + 2.40 .20+ 0.10 + 2.60 nf 126 126.30
HHRLT W 151.30 + 2.60 340 + 020 + 6.70 nf 164 164.20
FAE T TE wE+ 328.70 + 5.90 5,70+ 0.40 + 11.60 m 352 352.30
Heph T 328.70 + 5.90 5,70  + 040 + 11.60 nf 352 352.30
PR As 11.50  + 0.20 0.31 + 0.02 + 0.64 m 12.7 12.67
FEBHAL S T As 11.50 + 0.20 0.31  + 0.02 + 064 nf 12.7 12.67
#JE T F/EAs, t=3cm 286.90 + 5.80 770  + 060 + 16.00 nf 317 317.00
AT RC-40, t=16cm 286.90 + 5.80 770  + 060 + 16.00 nf 317 317.00
REE SRR IR SRR
15 T TE - L5y T i 0.44 0.44
0.023 t/m 0.04 m x 4799 m 0.44
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HPE ¢ 150 EEL= 521.70 BRIXASy
Rt = e E = Ht=

4% ook b ik HPE ¢ 150fis% T EFH R B
EhRALEIWT T As, t=10cmPL T 238.50 X 1.00 + 370.9
EPERRERVEEL | As, t=10cmPl T 0.55 X 521.70 286.9
AT e+ 0.63 X 521.70 328.7
HHRL T RC-40 0.23 X 521.70 120.0
HHREL T 1w 0.29 X 521.70 151.3
A wHE + 0.63 X 521.70 328.7
M T 328.70 328.7
FRBRAL PR As 286.90 0.04 11.5
Py As 11.5
FE T FHEAs, t=3cm 521.70 X 0.55 286.9
FEAE T RC-40, t=16cm 521.70 X 0.55 286.9
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HPE ¢ 15047 3% T 3aEatiA ER(MH)= 090 m
HPE ¢ 150 AR (W) RIRE(C)
EoME (D2) 0.180 PEHIE (W) 0.55 + = 0.55 m
SR (W) R (H1) AN i
fRH = 0.55 X( 0.8 + 0.180 + 0.1)=  0.63
Hr IR (W) B R (HL) WIRER)
MR = 0.55 x( 087 - 0.30 - 0.16)= 0.23
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0.58 - 00254 = 029 m
TR
AR R = 0.63 m
B R (H1) 13, SR I BR v
D2 : & I — B F (nm)
X5 fil EIME e D2:] 10 EIME 180
1 [PP¢13 21.5 0.55 W: |10 I HIE 0.55
2 |PP ¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |HPE¢ 75 93.0 0.55 o
8 |HPE ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 K
10 |HPE ¢ 150 180.0 0.55
11 [DGX ¢ 200 220.0 0.60 =
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - Nz
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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PP ¢ 50 EEL= 1050 m BRH= 090 m BRI - SR = 4 BRI 6
N cm R Ee= 3 PR = 15
4 m | ® %+ PP ¢ 50ffis% T EFE wer| W & 1
e T As, t=10cmPL T 10.50 X 2.00 m 21.0
EPERRERVEEL | As, t=10cmPl T 0.55 X  10.50 nt 5.8
AT WE 1 0.56 X  10.50 m 5.9
HHRL T RC-40 0.23 X 10.50 i 2.4
B RLT b 0.25 X  10.50 i 2.6
A wHE + 0.56 X  10.50 m 5.9
M T 5.90 m 5.9
FRBRALPR As 5.80 X 0.04 m 0.2
FRBRAL Sy # As m 0.2
FE T F4As, t=3cm 10.50 X 0.55 o 5.8
AT RC-40, t=16cm 10.50 X 0.55 i 5.8
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PP ¢ 5047 5% Kt HERE)= 090 m
PP ¢ 50 PEHIE (W) RIRE(C)
Eat(D2) 0.060 FEHIE (W) 0.55 + = 0.55 m
HE I (W) HXR(HL) EHME Wy
fRH = 0.55 X ( 0.86 + 0.060 + 0.1)=  0.56 i
HE IR (W) B R (HL) WREN) B
MR = 0.55 X ( 0.87 - 0.3 - 0.15)=  0.23 i
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X  0.460 - 0.0028 = 0.25 m
RS
AR R = 0.56 m
XA R (H1) 13, Sl HIBRyE
D2 : & I — B F (nm)
X5 fil EIME e D2:| 6 EIME 60
1 [PP¢13 21.5 0.55 W:| 6 S HIE 0.55
2 |PP¢ 20 27.0 0.55
3 _[PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢ 50 60.0 0.55
7 |HPE ¢ 75 93.0 0.55 o
8 [HPE ¢ 100 118.0 0.55
AR
9 [DGX ¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - af
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 i B
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PP ¢ 25 MEEL= 14.00 m BRXH=  0.65 m BERR AT - SRR = 4 B ANBEIX Sy 3
FepR 5t = cm Rt = 3 HARIE L= 16
4% %ok F ik PP ¢ 25 s L EFE BA| % & 1
ST T As, t=10cmPL T 14.00 X 2.00 m 28.0
EPERRERVEEL | As, t=10cmPl T 14.00 X  0.55 nt 7.7
AT e+ 0.41 X  14.00 m 5.7
HHRL T RC-40 0.09 X  14.00 i 1.2
HHREL T 1w 0.24 X  14.00 i 3.4
A wHE + 0.41 X  14.00 m 5.7
M T 5.70 m 5.7
FREBRALPR As 7.70 X 0.04 m 0.31
i Uag ¢ As mt 0.31
FE L F/EAs, t=3cm 14.00 X  0.55 i 7.7
FEAE T RC-40, t=16cm 14.00 X  0.55 ot 7.7
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PP ¢ 2541 5% T A et HERHE)= 065 m
PP ¢ 25 PEHIE (W) RIRE(C)
Eat(D2) 0.034 i HE (W) 0.55 + = 0.55 m
B (W) R (H1) AR i
fRH = 0.55 X ( 0.61 + 0.034 + 0.1)= 0.1
Hr IR (W) B R (HL) WIRER)
MR = 0.55 X ( 062 - 0.3 - 0.16)=  0.09
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0434 - 00009 = 024 m
TR
AR R = 0.41 m
B R (H) 13, Sl R HI BR v

D2 : & I — B F (nm)

X5 fil EIME R D2:| 3 EIME 34
PP ¢ 13 21.5 0.55 W:| 3 I HI g 0.55
PP ¢ 20 27.0 0.55
PP ¢ 25 34.0 0.55
PP ¢ 30 42.0 0.55
PP ¢ 40 48.0 0.55
PP ¢ 50 60.0 0.55
HPE ¢ 75 93.0 0.55 . W L6
HPE ¢ 100 118.0 0.55 |l

SR

DGX ¢ 125 143.0 0.55

HPE ¢ 150 180.0 0.55

DGX ¢ 200 220.0 0.60 =
DGX ¢ 250 271.6 0.60

DGX ¢ 300 322.8 0.70 _ <
DGX ¢ 350 374.0 0.70 - 3
DGX ¢ 400 425.6 1.05

DNS ¢ 450 476.8 1.10
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G¢

PP ¢ 20 EREL=  1.00 AR XSS
FARE L= JI=rEs

4w | B ok b PP ¢ 20figk TEEFH 5 i
ElE T T As, t=10cmll T 1.00 X 2.00 2.0
ERERREIEEL T.| As, t=10cmPL 1.00 X  0.55 0.6
AT e 1 0.41 X 1.00 0.4
HORL T RC-40 0.09 X  1.00 0.1
HORLT w 0.23 X 1.00 0.2
A WE+ 0.41 X 1.00 0.4
FE T 0.40 0.4
FRULALER As 0.60 0.04 0.02
FRURAL S Hy As 0.02
FE T F4EAs, t=3cm 1.00 0.55 0.6
T A T RC-40, t=16cm 1.00 0.55 0.6




+ T K EBE £
PP ¢ 2047 5% T At HERHE)= 065 m
PP ¢ 20 PEHIE (W) RIRE(C)
BHME(D2) 0.027 i HE (W) 0.55 + = 0.55 m
SR (W) R (H) AR i
I = 0.55 X ( 0.62 + 0.027 + 0.1)= 0.41
SR (W) R (H) MR
MR = 0.55 X ( 0.62 - 0.3 - 0.16)=  0.09
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0.427 - 0.0006 = 0.23 m
TR
AR R = 0.41 m
B R (H1) 13, SR I BR v

D2 : & I — B F (nm)

S fill EOME b UL D2:[ 2 BHME 27
PP ¢ 13 21.5 0.55 W:| 2 I HIE 0.55
PP ¢ 20 27.0 0.55
PP ¢ 25 34.0 0.55
PP ¢ 30 42.0 0.55
PP ¢ 40 48.0 0.55
PP ¢ 50 60.0 0.55
HPE ¢ 75 93.0 0.55 c W o
HPE ¢ 100 118.0 0.55 |l

SR

DGX ¢ 125 143.0 0.55

HPE ¢ 150 180.0 0.55

DGX ¢ 200 220.0 0.60 =
DGX ¢ 250 271.6 0.60

DGX ¢ 300 322.8 0.70 _ <
DGX ¢ 350 374.0 0.70 - N
DGX ¢ 400 425.6 1.05

DNS ¢ 450 476.8 1.10

26



L3¢

PP ¢ 13 EREL= 29.00 AR XSS
FARE L= JI=rEs

4% B S S = PP ¢ 13fig% LEEFHE i
ElE T T As, t=10cmll T 29.00 X 2.00 58.0
ERERREIEEL T.| As, t=10cmPL 29.00 X  0.55 16.0
AT e+ 0.40 X  29.00 11.6
HHRL T RC-40 0.09 X  29.00 2.6
HORLT w 0.23 X 29.00 6.7
A WE+ 0.40 X  29.00 11.6
FE T 11.60 11.6
FRULALER As 16.00 0.04 0.64
FRURAL S Hy As 0.64
FE T F4EAs, t=3cm 29.00 X  0.55 16.0
T A T RC-40, t=16cm 29.00 X  0.55 16.0




+ I B E *

PP ¢ 1347 5% LA et HERHE)= 065 m
PP ¢ 13 PEHIE (W) RIRE(C)
Eat(D2) 0.022 i HE (W) 0.55 + = 0.55
HE I (W) HXR(HL) EHME Wy
fRH = 0.55 X ( 0.61 + 0.022 + 0.1)=  0.40 i
HE IR (W) B R (HL) WHRE®R) B
MR = 0.55 X ( 062 - 0.3 - 0.16)=  0.09 i
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0422 - 00004 = 0.23 m
TR
AR R = 0.40 m
XA R (H1) 13, Sl HIBRyE
D2 : & I — B F (nm)
X5 Fi EIME e D2:| 1 EIME 21.5
1 |PP¢13 21.5 0.55 W:| 1 S HI g 0.55
2 |[PP¢ 20 27.0 0.55
3 [PP¢ 25 34.0 0.55
4 PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |HPE ¢ 75 93.0 0.55 o
8 [HPE ¢ 100 118.0 0.55
SRR -
9 [DGX ¢ 125 143.0 0.55
10 |HPE ¢ 150 180.0 0.55
11 |DGX ¢ 200 220.0 0.60 =
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _
14 |DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 i B
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63

o | om R F REZIFETHIN (KX L THEHE W=
HIVP
¢ 150
A T As, t=15cmPLF 12.40 12 12.40
EHEERRVEEL T As, t=10cmLL T 6.80 7 6.80
A T WE 6.90 7 6.90
D RLT RC—40 4.80 5 4.80
H»RL L b
A WE+ 6.90 7 6.90
HeHh T 6.90 7 6.90
FRBLAL B As 0.50 0.5 0.50
PRIy 2 As 0.50 0.5 0.50
#JE T FEAs, t=3cm 6.80 7 6.80
AT RC-40, t=16cm 6.80 7 6.80
. RES SRR TR SR TR 001 001

0.023 t/m




0€

HIVP ¢ 150 JEEL= 620 m BRH= 090 m BRI - SRR = 4 BNRIX Sy 10
FepR 5t = cm Rt = 3 HARIE L= 16

4 B | mowm o+ HIVP ¢ 150{kE% T EFHHE Wil % &’ 1

e T As, t=10cmPL T 2.00 X  6.20 m 12.4

EERRIVEEL T As, t=10cmbh F 0.55 X  6.20 2.00 nt 6.8

AT e+ 0.56 X  6.20 2.00 m 6.9

HHRL T RC-40 0.39 X  6.20 2.00 i 4.8

O RL T 12 m

A wE + 0.56 X  6.20 2.00 m 6.9

M T 6.90 m 6.9

FREBRALPR As 6.80 X  0.04 2.00 m 0.5

Py As i 0.5

FE T F4EAs, t=3cm 6.20 X  0.55 2.00 m 6.8

AR T RC-40, t=16cm 6.20 X  0.55 2.00 nt 6.8




+ I B E *

HIVP ¢ 1508 TR HR(H)= 090 m
HIVP ¢ 150 HEHE (W) RIRE(C)
woME (D2) 0.165 HEHIHE (W) 0.55 + = 0.55
SR (W) R (H1) AN i
HRH = 0.55 X ( 0.86 + 0.165 + )= 0.56 m
SR (W) R (H1) MR
MR = 0.55 xX( 087 - - 0.16 )= 0.39 i
Hr AR (W) WHLRE (h1) A
R = X - = m
TR
AR R = 0.56 m

KA R (HD) 13, e 5 HI PR B

D2 : & I — B F (nm)
X5 fil EIME e D2:] 10 EIME 165
1 |PP¢13 21.5 0.55 W: |10 S HI g 0.55
2 |PP ¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6_|PP ¢ 50 60.0 0.55
7 _|DGX¢ 75 93.0 0.55
8 |DGX ¢ 100 118.0 0.55
9 |DGX¢ 125 143.0 0.55 K
10 |DGX ¢ 150 165.0 0.55
11 [DGX ¢ 200 220.0 0.60 -
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 |DGX ¢ 350 374.0 0.70 - 3
15 [DGX ¢ 400 425.6 1.05 01
16 [DNS ¢ 450 476.8 1.10
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